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1 Introduction

11 Objectives

Ver. DS-2014SE-PTS-UTR-1.1

2 E XA+ Public Transportation System (PTS)Q| unit testE &5t ZA1I0f| LTt report

2 A O|LCt. Test@A=0| CHSE Test case?t Test

1.2 References

2014SE_B_TP2_T6_SRA_Rev_2.3

—

A Z1toi| chet LHES ERUCh

(http://dslab.konkuk.ac.kr/Class/2014/14SE/Team_Project_B/TP2/2014SE_B_TP2_T6_SRA_R

ev_2.3.pdf)

2014SE_B_TP2_T6_SDS_Rev_1.2

(http://dslab.konkuk.ac.kr/Class/2014/14SE/Team_Project_B/TP2/2014SE_B_TP2_T6_SDS_R

ev_1.2.pdf)

2014SE_B_TP2_T6_UTP

Al
=

>

=& FXH(SRS)

(http://dslab.konkuk.ac.kr/Class/2014/14SE/PTS%20SRS%20Ver%201.0.pdf)

2 Unit test case specification

2.1 Test case specification identifier

Table 1 Test Design Identification

<Card Tagger>
Identifier Feature(Process ID in DFD) Valid / Invalid value
FIEE 2J0{A EFZT|IDQ}F Time TickZ
PTS_UTC_000 1 Card Reader Interface HE E0|2 EjOA|ZFE Data Stored
ME
FIEMHEQ} Ciaty| MEE HIOtM 23
PTS_UTC_001 2.1 Get on/off Process r=gmet HEvl S SO Set
At oj ol
FIEEER BHEY| §EE OtM s
PTS_UTC 002 2.2 Transfer Process
ol 2ol
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FIEMEQL CHAty| MyE diolA O/F
PTS_UTC_003 2.3 Balance Process =< } =71 3 =0 I8
AR =l
FIEXMEQ CHaty| MEE HHOIAM OIS
PTS_.UTC_ 004 | 2.4 TD Process (=32 B 3 O HIE
NESE ol
FIEXM H Q| EI_|-E|I-7 MHE=E b.':I'OA H 7
PTS_UTC_005 2.5 FT Process (=3 = _l 42 B0 2
= Q=1 Writer infoE return
Chargeg HIECZ &£X9| &£0l0{& m
PTS_UTC_006 3.1 B.D Control o ges HHS siel sEas
EnableAlS £ BHOFA [|O|EHE CHLZ
PTS_UTC_007 3.2 Saving =OHA EIoH =7
of X%
Card Interface0f| Writer Info, Charge&
PTS_UTC_008 3.5 Send Process 2
PTS_UTC_009 4 LED Interface S02 HEE LEDY EHA|

<Calculating>

Identifier Feature(Process ID in DFD) Valid / Invalid value
) Tag Stop / Data Receive ProcessZ
PTS_UTC_010 1.6 Time Check ) N
TriggerE ELUf 52 20l
PTS_UTC_011 1.7 Data Receive Process HIO|EE HtOotM HE|TH & return =HOI
HALE| oS HAZOHT X|SHAHZHO
PTS_UTC 012 | 1.1 Classify Process © = o ==
2 27 g9
228 2470 HAZUD XtE I
PTS_UTC_013 1.2 Added Charge g SiLto| HAZAUI X5t ZdHo=Z
o gl
2.2 Test items
Table 2 Test Case Identification
<Card Tagger>
Identifier Input specification Output specification
//Structure(Tag info)& Ct2 O
PTS_UTC_000_000 | //structure®d tag == 09142 O|HHAEONZE JMES= ot A
3
//Structure(Tag info)E CtS O
PTS_UTC_000_001 | //structureZ tag == 19142 O|E{AE0Z N&ESE ot A
=
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//Structure(Tag info)£ Ct2

PTS_UTC_000_002 | //structureX tag == 29142 OHAEOZ H&o= & A
6OH
//Structure(Tag info)£ Ct2
PTS_UTC_000_003 | //structure®d tag == 3Q1& < O|HAEOZ W&t g A

Sh
=]

PTS_UTC_000_004

//Structure(Tag info)E Ct2 O
O|HAEOR MEst= T+ A

Sh
=]

PTS_UTC_000_005

//structure® tag == 5Q1 4

//Structure(Tag info)£ Ct2
O|HAEOZ MES= & A

3
A

PTS_UTC_000_006

//structure® tag != 0,1,2,34,501 42

i
inl
dlo
i

//Structure(Tag info
O|HAEOZ MESt= &= 0O

Al
=

PTS_UTC_001_000

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,0UT, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,
21,02,02, BUS,?, BUS_O, ?, 7}

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,OUT,
BUS_0,1000, 10}
tginfo->taginfo = {2014, 11,

21,02,02, BUSIN, BUS_O, 7, 7}

PTS_UTC_001_001

tginfo->cardinfo = {2014, 11,
21,01,01, BUSIN, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,

21,02,02, BUS.?, BUS O, 7, ?};

tginfo->cardinfo = {2014, 11,
21,01,01, BUSIN, BUS_0,1000,
10}

tginfo->taginfo = {2014, 11,

21,02,02, BUS,OUT, BUS_O, 7, 7};

PTS_UTC_001_002

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,?, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,

21,02,02, BUS,?, BUS O, 7, ?};

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,?, BUS_0,1000,
10}

tginfo->taginfo = {2014, 11,

21,02,02, BUS,?, BUS_O, 7, 7}

PTS_UTC_002_000

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,1000, 10}
tginfo->taginfo = {2014, 11,
22,01,02, BUS,IN, BUS_O, 7, 7}

tginfo->transfer=false

PTS_UTC_002_001

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,1000, 10}
tginfo->taginfo = {2014, 11,
20,01,02, BUS,IN, BUSO, 7, 7}

tginfo->transfer=false
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PTS_UTC_002_002

tginfo->cardInfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,1000, 10};
= {2014, 11,

21,03,02, SUB,IN, SUB_O, 7, ?};

tginfo->tagInfo

tginfo->transfer=false

PTS_UTC_002_003

tginfo->cardInfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,
21,01,02, BUS,IN, BUS_O, 7, ?};

tginfo->transfer=false

PTS_UTC_002_004

tginfo->cardInfo = {2014, 11,
21,01,01, SUB,OUT, SUB_0,0, 10};
tginfo->taginfo = {2014, 11,
21,01,02, BUS,IN, BUS_0, 7, ?;

tginfo->transfer=false

PTS_UTC_002_005

tginfo->cardInfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,0, 10},
= {2014, 11,

21,01,02, SUB,IN, SUBO, 7, 7}

tginfo->tagInfo

tginfo->transfer=false

PTS_UTC_002_006

tginfo->cardinfo = {2014, 11,
21,01,01, SUB,IN,SUB_0,1000, 10};
tginfo->taginfo = {2014, 11,
21,02,02, BUSIN, BUS_0, ?, 7}

tginfo->transfer=false

PTS_UTC_002_007

tginfo->cardinfo = {2014, 11,
21,01,01, SUB,OUT,SUB_0,1000, 10};
tginfo->taginfo = {2014, 11,
21,02,02, BUS,OUT, BUS_O, ?, ?};

tginfo->transfer=false

PTS_UTC_002_008

tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN,SUB_0,1000, 10},
= {2014, 11,

21,02,02, BUS,OUT, BUS_O, 7, ?};

tginfo->tagInfo

tginfo->transfer=false

PTS_UTC_002_009

tginfo->cardinfo = {2014, 11,
21,01,01, BUS,OUT, BUS_0,1000, 10}
tginfo->taginfo = {2014, 11,
21,01,02, SUB,IN, SUB_O, ?, 7}

tginfo->transfer=true

PTS_UTC_003_000

tginfo->cardinfo = {2014, 11,
21,01,01,BUS,IN, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,

21,02,02,BUS,IN, BUS_ O, 7, 7}

tginfo->yetFee = true

PTS_UTC_003_001

tginfo->cardInfo
21,01,01,BUS,IN,

= {2014, 11,
BUS_0,1000, 10};

tginfo->yetFee = true
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tginfo->taginfo = {2014, 11,
22,01,01,BUSIN, BUSO, ?, ?;
tginfo->cardInfo = {2014, 11,
21,01,01,BUS,IN, BUS_0,1000, 10}; )
PTS_UTC_003_002 ) tginfo->yetFee = false
tginfo->taginfo = {2014, 11,

22,01,01,BUS,IN, BUS O, 7, 7}

PTS_UTC_003_003

tginfo->cardInfo = {2014, 11,
21,01,01,BUS,OUT, BUS_0,1000, 10};
tginfo->taginfo = {2014, 11,
21,02,02,BUS,OUT, BUS O, 7, ?}

tginfo->yetFee = false

PTS_UTC_003_004 | tginfo->cardinfo = {2014, 11,
21,01,01, BUS,0UT, BUS_0,1000, 10}; )
) tginfo->yetFee = false
tginfo->taginfo = {2014, 11,
21,02,02, BUS,IN, BUS O, 7, ?;
PTS_UTC_003_005 tginfo->cardInfo = {2014, 11,
21,01,01, BUS,IN, BUS_0,1000, 10} ]
) tginfo->yetFee = false
tginfo->taginfo = {2014, 11,

21,02,02, BUS,OUT, BUS O, 7, ?};

PTS_UTC_004_000

tginfo->taginfo = {2014, 11,
21,02,02, 7,2, BUSO, ?, 7}

tginfo->taginfo = {2014, 11,
21,02,02, ?, BUS, BUS_O, 7, ?;

PTS_UTC_004_001

tginfo->taginfo = {2014, 11,
21,02,02, 7,2, SUBO, ?, ?}

tginfo->taginfo = {2014, 11
21,02,02, ?, SUB, SUB_O, ?, ?;

tginfo->taginfo = {2014, 11, tginfo->taginfo = {2014, 11,
PTS_UTC_004_002

21,02,02,?,?,SUB_L, ?, ?} 21,02,02, 7, SUB, SUB_1, ?, ?;

tginfo->taginfo = {2014, 11, tginfo->taginfo = {2014, 11,
PTS_UTC_004_003

21,02,02,?,?,SUB_2, ?, 7} 21,02,02, ?, SUB, SUB_2, ?, ?;

tginfo->taginfo = {2014, 11, tginfo->taginfo = {2014, 11,

PTS_UTC_004_004

21,02,02, 7, ?, SUB_3, 7, ?};

21,02,02, 7, SUB, SUB_3, 7, 7};

PTS_UTC_004_005

tginfo->taginfo = {2014, 11,
21,02,02, 7,2, SUB 4, ?, 7}

tginfo->taginfo = {2014, 11
21,02,02, ?, SUB, SUB 4, ? , ?;

PTS_UTC_004_006

tginfo->taginfo = {2014, 11,
21,02,02, 7,2, BUS5, 7, ?%;

tginfo->taginfo = {2014, 11,
21,02,02, 7,2, BUS5, 7, ?%;

tginfo->taginfo = {2014, 11,

21,02,02, BUS,IN, BUS_O, true , ?}; )
PTS_UTC_005_001 ] wrinfo.fee = 0;

tginfo.transfer = {?, ? ,true,

true, 7, 7, 7}

tginfo->taginfo = {2014, 11, )
PTS_UTC_005_002 wrinfo.fee = 1650;

21,02,02, BUS,IN, BUS_O, true , ?};
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tginfo.transfer = { ?, ? false,

true, 7, 7, 7}

tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN, SUB_0,5000, 10};

tginfo.transfer = { ?, ? false,
true, 7, ?, 7}

tginfo->cardInfo = {2014, 11, )
PTS_UTC_005_003 wrinfo.fee
21,01,01, BUS,IN, BUS_0,5000, 10};
tginfo->taginfo = {2014, 11,

21,02,02, BUSIN, BUS_O, true , ?};

1750;

tginfo.transfer = { ?, ? false,
false, 7, 7, 2} .
PTS_UTC_005_004 ) wrinfo.fee = 1050;
tginfo->taginfo = {2014, 11,

21,02,02, BUS,IN, BUS_O, true, ?};

tginfo.transfer = {?, ? ,true,
false, 2, 7, ?}

tginfo->taginfo = {2014, 11, .
PTS_UTC_005_005 wrinfo.fee = 1150;
21,02,02, BUS,OUT, BUS_O, true , ?};
tginfo->cardInfo = {2014, 11,

21,01,01, BUSIN, BUS_0,5000, 10}

tginfo.transfer = { ?, ? true,

true, 72, 7, 2}

tginfo->taginfo = {2014, 11, )
PTS_UTC_005_006 wrinfo.fee = 0;

21,02,02, SUB,IN, SUB_O, true, ?};

tginfo->cardInfo = {2014, 11,

21,01,01, BUS,OUT, BUS_0,5000, 10};

tginfo.transfer = {?, ? false,

true, ?, ?, 7}

tginfo->taginfo = {2014, 11, .
PTS_UTC_005_007 wrinfo.fee = 1750;

21,04,02, SUB,IN, SUB_O, true, ?};

tginfo->cardInfo = {2014, 11,

21,01,01, BUS,IN, BUS_0,5000, 10};

tginfo.transfer = { ?, ? false,

false, 2,72, 2}

tginfo->taginfo = {2014, 11, )
PTS_UTC_005_008 wrinfo.fee = 1650;

21,04,02, SUB,IN, SUB_0, true, ?};
tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN, SUB_0,5000, 10};
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PTS_UTC_005_009

tginfo.transfer = { ?, ? false,
false, 2, 7, ?}
tginfo->taginfo = {2014, 11,

21,04,02, SUB,IN, SUB_0, true, ?};
tginfo->cardInfo = {2014, 11,
21,01,01, SUB,OUT, SUB_0,5000, 10};

wrinfo.fee = 1050;

PTS_UTC_005_010

tginfo.transfer = {?, ? (false,
false, 7, 7, 2}
tginfo->taginfo = {2014, 11,

21,04,02, SUB,OUT, SUB_O, true , ?};
tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN, SUB_2,5000, 10};

wrinfo.fee = 1250;

PTS_UTC_005_011

tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN, SUB_2,5000, 10};

tginfo->board_bool = true;

PTS_UTC_005_012

tginfo->cardInfo = {2014, 11,
21,01,01, SUB,IN, SUB_2,500, 10};

tginfo->board_bool = false;

PTS_UTC_006_000

tginfo->taginfo = {2014, 11,
21,02,02, BUS,IN, BUS_OQ, true, ?};

trigger = true;
sendApproval
saveData

sendWritterinfogt &=

PTS_UTC_006_001

tginfo->taginfo = {2014, 11,
21,02,02, BUS,IN, BUS_0, false , ?};

trigger = false;
sendApproval
saveData

sendWritterInfo &4 =

PTS_UTC_007_000

cardinfo
taginfo

writing.info

BUS_0.txt

PTS_UTC_007_001

cardinfo
taginfo

writing.info

SUB_0~5.txt

PTS_UTC_008_000

Charge , WRITTERINFO wrinfo

Checkboarding(int charge,
WRITTERINFO tginfo) &4 &

=

=

3}HO|| tginfo->taglnfo.year, tginfo-
>taglnfo.month, tginfo->taginfo.day,
tginfo->taglInfo.hour, tginfo-

PTS_UTC_009_000 | WRITTERINFO wrinfo ,charge >tagInfo.minute, Wl &=,
EF & 0E =381 X}inputinfo.fee,
inputinfo.balance
2 printf2 WA =
Team 6 9
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<Calculating>

Identifier Input specification Output specification
Hourminute . .
PTS_UTC_010_000 ) classifyData,receive data &
hour==20 && minute==
Hour,minute R N
PTS_UTC_010_001 ot st~ == SHX| AL
0<=hour<20,
Hour,minute

PTS_UTC_010_002

Hour ==0,minute==0

deleteData 5! restartTag @&

PTS_UTC_011_000

(BUS.txt SUBL.txt SUB2.txt SUB3.txt
SUB4.txt SUBS.txt) read success

Structure Node(Linked List)
Node.Data = { A[Zt
(yyyymmddhhmmss), mE2=CH
S5HALAR 2, T T|ID)

PTS_UTC_011_001

(BUS.txt SUBL.txt SUB2.txt SUB3.txt
SUBA4.txt SUBS.txt) read fail

NULL

PTS_UTC_012_000

textot S AL structure

Node(linked listo] F=X)

structure Node 27§
BusList.Data, Sublist.Data
{AlZHyyyymmddhhmmss), BUS
or SUB, £38}XHIN or OUT), &
HeZ(int), Et27| ID(char*)}

added charge & &

PTS_UTC_013_000

structure
CLASSFIEDDATA(BUSLIST,SUBLISTS
ZbK|0 Qe structure)d charge >=
0

struct OVERALLBUSCHARGE
{AlZkyyyymmdd),"BUS”,

A 23 (int) }

struct OVERALLSUBCHARGE
{A|Zh, "SUB", M Q2 )}

£ AEHETIHSt |

sendBusCharge, sendSubcharge

PTS_UTC_013_001

structure
CLASSFIEDDATA(BUSLIST,SUBLIST=

VX2 Q= structure)d charge < 0

2.3 Input specifications

Tablel Test Design Identification &%
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10




24  Output specifications
Tablel Test Design Identification &%
Environmental needs
Hardware & Platform, Cygwin, Vi, GCC
Unit test summary report
4.1  Test summary report identifier

- 1% 1 Card Tagger Unit test Result &=

PTS_UTC_000_000 | passed

PTS_UTC_000_001 Passed

PTS_UTC_000_002 passed

PTS_UTC_000_003 Passed

PTS_UTC_000_004 | passed

PTS_UTC_000_005 | passed

PTS_UTC_000_006 | passed

PTS_UTC_001_000 | Passed

PTS_UTC_001_001 passed

PTS_UTC_001_002 | Passed

PTS_UTC_002_000 passed

PTS_UTC_002_001 passed

PTS_UTC_002_002 passed

PTS_UTC_002_003 | Passed

PTS_UTC_002_004 passed

PTS_UTC_002_005 Passed

PTS_UTC_002_006 passed

PTS_UTC_002_007 passed

PTS_UTC_002_008 passed

PTS_UTC_002_009 Passed

PTS_UTC_003_000 passed

PTS_UTC_003_001 | Passed

PTS_UTC_003_002 passed

PTS_UTC_003_003 passed

PTS_UTC_003_004 passed

PTS_UTC_003_005 Passed
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PTS_UTC_004_000 passed
PTS_UTC_004_001 Passed
PTS_UTC_004_002 passed
PTS_UTC_004_003 | passed
PTS_UTC_004_004 | passed
PTS_UTC_004_005 | Passed
PTS_UTC_004_006 passed
PTS_UTC_005_001 Passed
PTS_UTC_005_002 passed
PTS_UTC_005_003 | passed
PTS_UTC_005_004 | passed
PTS_UTC_005_005 | Passed
PTS_UTC_005_006 | passed
PTS_UTC_005_007 Passed
PTS_UTC_005_008 passed
PTS_UTC_005_009 passed
PTS_UTC_005_010 | passed
PTS_UTC_005_011 | Passed
PTS_UTC_005_012 | passed
PTS_UTC_006_000 | Passed
PTS_UTC_006_001 passed
PTS_UTC_007_000 passed
PTS_UTC_007_001 Passed
PTS_UTC_008_000 | Passed
PTS_UTC_009_000 passed

- 1#gl 2 Calculating Unit test result

PTS_UTC_010_000 Passed
PTS_UTC_010 001 passed
PTS_UTC_010_002 | Passed
PTS_UTC_011_000 | Passed
PTS_UTC_011_001 | passed
PTS_UTC_012_000 Passed
PTS_UTC_013_000 passed
PTS_UTC 013 001 passed
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&l 1 Card Tagger Unit test Result

&l 2 Calculating Unit test result

4.2  Evaluation

Total test case : 617
Passed : 617}

Failed : 07|

Team 6

Ver. DS-2014SE-PTS-UTR-1.1

13



